YTCT=RY—Fvh SUFITK

K% FijE SEI1EE | EEoER | SESEL | EE4BR [ EE5ER | FeEk | HiIBE [RAUk
1[5 Zh BET=-RX957 40 58 84 84 120 84 6 476
2| RE B— KOBU 84 84 58 120 120 5 471
;7% BE BET=-RX957 120 28 84 28 4 264
AR #Ht BET=-RX957 58 28 40 28 40 7 6 207
5| T &/\ BET=-RX95D 19 19 40 58 58 5 199
6|0l EE 2!)— 58 120 2 178
UEEEEZPN BET=-RX957 40 19 40 40 58 5 202
8| F Esh rEDT=RH5D 40 58 40 58 4 200
9155 BF BET=-RX957 120 1 120
10| K B2 BET=-RX957 7 40 7 40 19 5 118
11{KEF shisk BET=-RX95D 7 40 19 7 4 77
122K (K |[EET=-RX957T 58 1 58
13|25 A BET=-RX957 40 1 40
14[{E& £BX 21)— 40 1 40
154510 Z 2!)— 40 1 40
16[#0H X BET=-RX957 28 1 28
17|80 —hk BET=-RX95D 7 7 7 3 21
18[WR FFeE (71— 7 7 2 14
19[4 EEf G ER 7 7 2 14
20|/M)Il EE] BET=RX957 7 1 7
2120 = rEDT=RH5D 0 0




